Economics 302

Spring 2005

Answers to Practice Questions 1

(Covers Chapters 1 and 2 in Mankiw text)

1.  a.  

	Year
	Real GDP in 1990 Prices
	Price Index

	1990
	400
	100

	2000
	500
	150


i. Real GDP =money GDP in the base year
ii. Real GDP = [(Money GDP)/(Price Index)] * 100

    b.

	Year
	Real GDP in 2000 prices
	Price Index

	1990
	iv) 600
	ii) (100/150)*100 = 66.7

	2000
	iii) 750
	i) (150/150)*100 = 100


To get the answer you first need to recalculate the price index using year 2000 as your base year.  Then use the money values from part (a) and the new price index to calculate real GDP using year 2000 prices.

i) Base year price index

ii) Price index for 1990 using year 2000 as the base year

iii) Real GDP = Money GDP in the base year

iv) Real GDP in 1990 using year 2000 prices = money GDP in year 1990 divided by the price index for 1990 times 100

2. 
	Productivity Gain
	Wage Increase
	Labor cost/Unit of Output

	0%
	0%
	i) 

	0%
	10%
	ii)

	0%
	20%
	iii)

	10%
	0%
	iv)

	10%
	10%
	v)

	10%
	20%
	vi)

	20%
	0%
	vii)

	20%
	10%
	viii)

	20%
	20%
	ix)


a. Fill in the above table i) through ix).  To fill in the table it will be helpful to make a table to organize the necessary data.
	Productivity Gain
	Output
	Wage Increase
	Wage Rate
	Labor Cost/Unit of Output

	0%
	10 units 
	0%
	$10
	$1/unit of output

	0%
	10 units 
	10%
	$11
	$1.1/unit of output

	0%
	10 units 
	20%
	$12
	$1.2/unit of output

	10%
	11 units
	0%
	$10
	Approx. $.91/unit of output

	10%
	11 units
	10%
	$11
	$1/unit of output

	10%
	11 units
	20%
	$12
	Approx. $1.1/unit of output

	20%
	12 units
	0%
	$10
	Approx. $.83/unit of output

	20%
	12 units
	10%
	$11
	Approx. $.92/unit of output

	20%
	12 units
	20%
	$12
	$1/unit of output


b. If productivity growth is greater than wage rate growth than labor cost/unit of output decreases.  If productivity growth equals wage rate growth than labor cost/unit of output does not change.  If productivity growth is less than wage rate growth than labor cost/unit of output increases.

c. No.  Real wages are a claim on goods and services produced in an economy.  In order for real wages to increase there must be an increase in the level of output produced by the labor in the economy (productivity growth).

d. Labor costs/unit of output can be reduced if the productivity growth rate is greater than the wage rate growth rate. 
3.  a.  In the first year production of consumer goods exceeds consumption of consumer goods by $40.  This excess production results in an increase in inventories of $40 at the end of the year (note inventories change from $60 as of January 1 to $100 as of December 31). 

     b. In year 2, production of consumer goods is less than consumption of consumer goods resulting in a decrease in inventories equal to the difference between production and consumption of consumer goods ($180-$220 = -$40 = the decrease in inventories).

     c.  

	
	Year 1
	Year 2

	GDP
	i) 250
	210

	Consumption
	ii)  180
	220

	Gross Investment
	iii) 70
	-10

	Net Domestic Product 
	iv) 210
	170

	Consumption 
	v) 180
	220

	Net Investment
	vi) 30
	-50


i) Find ii) and iii) and then sum these to find i).

ii) Consumption = $180 since that is the level of purchases of consumer goods.  The other $40 worth of consumer good production is added to inventories which is one part of investment.

iii) Gross Investment = Production of New Building + Production of New Equipment + Changes in Inventories = $10 + $20 + $40 = $70
iv) Find v) and vi) and then sum to these to find iv).

v) See ii).  Consumption does not change.

vi) Net Investment = Gross Investment – Depreciation of Existing Building – Depreciation of Existing Equipment = $70 - $20- $20 = $30

  d.  Net investment can be negative: this occurs when depreciation of existing buildings and equipment is greater than gross investment.  See year 2 in this example.

4.  These are open-ended thought questions.  Get together with some fellow students to debate these as well as other example while exploring the limitations of GDP accounting.

5.  a.  Use the table below to answer this question:

	Year
	Nominal GDP=PY
	P=GDP deflator
	Y=Real GDP

	2000
	100
	1.00
	100

	2001
	115.5
	1.05
	110

	2002
	124.2
	1.08
	115

	2003
	132
	1.10
	120


i.       Fill in the missing cells in the above table.
ii. From the above data, fill in the following table:

	Year
	Percentage Change in Nominal GDP Using Data from the Nominal GDP column
	Percentage Change in P Using Data from the P column
	Percentage Change in Y Using Data from the Y column
	Percentage Change in Nominal GDP Using Approximation Technique 

	2000 to 2001
	15.5%
	5%
	10%
	15%

	2001 to 2002
	7.53%
	2.86%
	4.55%
	7.41%

	2002 to 2003
	6.28%
	1.85%
	4.35%
	6.2%


b.  Use the table below to answer this question:
	Year
	GDP per person
	Y=Real GDP
	L=population

	2000
	$1000/person
	$100 billion
	100 million

	2001
	$1200/person
	$150 billion
	125 million

	2002
	$1500/person
	$195 billion
	130 million

	2003
	$1200/person
	$150 billion
	125 million


i. Fill in the missing cells in the table.
ii. Now complete the following table.
	Year
	Percentage Change in GDP/person Using Data from the GDP/person column
	Percentage Change in Real GDP Using Data from the Real GDP column
	Percentage Change in Population Using Data from the L column
	Percentage Change in GDP/person Using Approximation Technique 

	2000 to 2001
	20%
	50%
	25%
	25%

	2001 to 2002
	25%
	30%
	4%
	26%

	2002 to 2003
	-20%
	-23.08%
	-3.85%
	-19.23%


